
innervationovuoiwnoiamntguio-susntwd.vn's
atoning

mninuosunido

31 ) t ) ¥800
Oonrodoogmv

#4)

-

32) ① at - ⇒ + Ia - I + at - Fa + ¥ = 2 ②
3A - 5=3×7 - 5 = 16

FA - FA t - ¥ t ¥ - Fa t 2¥ = 2 3A - 4--3×7-4=17

3A - 3 = 3×7 - 3=18

2-3*-141741+2=2 / fan
- 2

, zxffm.IE
28 = 12112A ) MOU 3A - 2 # 4)
28 = 4A

A = 28g = 7

#

② ③
331 ① Iot # = I ¥n - In + In = off so Mtn

= 201-3

In = F - fo Fon - Ent EEN -

- foot -

- 23 # t )

÷ : :÷÷f÷:÷÷÷.!* FI! = m

= n

n = 3

m = 20

-



34) w5moww0oYoi x Ew
tigon a Tutu Ix Ew

Timi 2 Tutu ¥ # x ) = # X EN

bunt'ohiown 3,45 AN X-¥xtFx ) = 25×-175×+355×135

=
3571-871

-35

= 271
35

Trask 3,4 ,
5 TUYUHUN : 237ft ÷ 3=23751 × I = 93¥ Ew

rabid faffs -1¥ ) - FI = 120

187€34 = 120
35

1571 = 720×35
to 7

X = 120×3-51/531
X = 280 # 4)

③

35) NOWOTNY 54.3×8.2 = 445.26 I 450

UNTIDY 24.3×8.5 = 205.55 I 210

wants = 450-210=240 # 4 )

F
36) ① A = 17.892-7.2213=154.07×0.6-(72.38-10.88)-11.5 3.5-12.7

= i.se?./--i5eg.ztxo.r= 74.91 =
92.442

I

#

3

6.2=74.971
③ ooo Ff = 74.97-74.97

-

3

=
74.97×-3 =3

74.91
I



37) ( Ax B) + (Aac) = 185

A- x ( Btc) = 185

A- x (Btc) = 5×37

ooo A- =3't

Btc = 5 # 1)
-

38) un us.sn
. 41841404207

121357053
5 17
#

Us
.

-N .

= 4×7=28 # 3)

→

39 ) in a .TW
. 4 1458

1 5 2
#

MT.gs
.

= 4×1×5×2=40

bndowdmnwiu802.TW
badou 6N . Ut W.at D. Ed .

= 30-131-130=97 Tw

Fon = 24+91=715 Tw

WH
, during 40 80 40

, 80,1200 ,
. . .

n%nTnwohwotN7VWWToanT9w8n 120 Tw

bus www.whdusintz 715 Tw burthen 720-115=5 Tw

s
.
n%oT7No7woEN7V70WToNnTs9wTwrT

'

5 rn . 2564 # 3)

#



40) ① AAB = IAXB ) -11 ② ② BOB = 113×131+1

① A- 8 A = (AXA ) -11 10 = 132+1
①

5 = AZ -17 9 = 132
• ①

⑦

. .
! : ::/ .

:B: :-.'

③ C&C = ( Cxc ) -11

17 = CHI

18 = CZ

CZ = q2

ooo C = 4

#
1) ( AAC) x ( B # C) = 9×13=717 * 3) 1. ( Ax C) 813=12×4783

IAXBXC ) * C = (2×3×4184 = 8*3

= 2484 = 8×3+1

= Next ) -11 = 25

= 97 * ( Bx C) * A = ( 344182

177797 1 ) WH =

12*2=12×21-1
" " """

÷÷÷:*:/ . .
:c::÷÷:i
.

(Btc ) @ A = (31-4)*2 = 16*2

= 7*2 = 76×21-1

= 7×2+1 = 33

= 15 * ( AXA ) 8C = (2×2184

13 f- 15 2759 = 484

= 4×41-1

= 17

33>14 Ann #t)
V

-



41 ) 97mW BOWIE Motion' 2,3 , 5,7 , 17 , 13,77 ,
19

, 23,29 I 7097mW

Nonunion avoided 5 DTMF itmosbnaan 5 Apra wisdom w

Junior 297mW
2 ntnu 3,7117 , 73,77 , 19123,29 You 8 btw

3 ntnu 7,17 , 73,77 , 19123,29 You 7 NUU

7 n'urtu 17173,77 , 19123,29 You 6 btw

11 ntnu 73,77 , 19123,29 You 5 btw

13 ntnu 77,19 , 23,29 You 4 HW

17 n'urtu 19123,29 You 3 btw

79 n'urtu 23,29 You 2 Hw

23 ntnu 29 You 1 HW

TON 81-7+6+5-14+3+2+7=36 662N # 3)

-

42) 0oqvw0mamt#

/x/too-74707=+10-13/04%5
X -110+3 = 21×+3)

Xt73 = 2X -16

73 - G = 2X - X

7 = X

o: 0090%408074 X-170=7-110--178 # 3)

⑧

43) ( ( 10x PHP]x[ ( IOXPHP] = 1100 xp ) -1110×0,7-113

Hop-1107110 Ptp )

HIP ) pp ,
I

10014100 xp

70013 -1100, -113

121132 = 10713-1100,



43) ( ( IOXPHPTXCCIOXPHP ] = 1100×131-1110×0, )tP

Ptp)HOPtP ) = 1100×13 ) -1110×0,7-113

11113111113 ) = 1100×13 ) -1110×0, )tP

112132 = 1100×13 ) -1110×0, )tP

rig p=1* ; 17272 = 100×1+10×0, -11 ( Po0woov8wTN7oD

121 = 100-1100, -17

20 = IOQ

Q = Fo = 2 *

[ 1100×131-1110×0, )tP]x ( ( IOXPHP ] = ( 1000413 ) -111009131-1110×137 TP

(112134×11113) = (1000×13)-11100913 ) -11104127 TP

113133 = (1000×13)-11100913 ) -1110×137 TP

bmw 13=1 1331×73 = 1000-170013-11012+1

1337 - 1007 = 77013

330 = 77012

R = 330
170

R = 3 *

[ 17000 XP) -11100×131+110×13 ) -1133×[1104131-113]=(70000×13)+11000×5) -11100×17+110×51 -113

(1131331×11113) = (70000×13)+11000×5) -11100×711-110×5 ) -113

714 Pt = (70000×13)+11000×5) -11100×711-110×5 ) -113

NNW 13=1 14547×74 = 70000+10005 -1700T -11051-7

74,641--70,000 - I = 10005 -1100T -1105

4,640 = 10005 -1100T -1105

4000+600+40 = 10005 -1100T -1105

% 5=4 *

-1=5 *

ooo Pt Qt Rts -1T = 7 -121-31-41-5

= is # t )

-



44) ① 2g ( Mx - 47=6 ② Mxty = K - 2

13 -1114N -12) = K - 2

MX - 4 = 5×1

mm: : :!:/
""""⇐ '

ien. . # ,

2N -11 = ¥ Cy -157

712N -11 ) = y-15

14N -17 = y -15

14N -17-5 = y

y
= 14N -12 *

#

45) inform 500 UM

Finn 301 . Aaron 3%0×500 = 150 UM

nTmwmsnk% annotation lot . Gantu 1%0×500 = 50 UM Modo 450 UM

Dagh 20 't Enslow
120¥

x 450 = 90 UM

TON 50+90=140 UM

ooo DAVID V 150 - 140 = 10 UM

anointed 10 UM # 1)

-

45) Wharton a van tortoni WAN 4+2+7=13 Arw Another Novartis 4 ntzw

WIEN 1 Van GUENMT 390 No
,

ooo WEENwww.wn-nivwfzxz938 = 120 No
.

oiwnTNw4EN to via m%9Tw9EN 40×120 = 4,800 No.

muosiowdinwrvwiir = 42%02 = 19.2 Um

oo. m%o9ToohsWou 20 van # 2)

#



47) 3 INME 50 6VWM- 621Mt = 3001-50=350 VN
.

2 6N MT 10 6VWM- 621Mt = 200-170 = 210 Vw.

Emotions = 350 : 270

Oeta Emotions oadismdndo 5 :3 # 2)

-

10 501-34=94
48) bowwow 27 90%07 inning Aaron H

. 34
-

5. 45

5
.
49

i. 90%07 inning 5 tons 49 wind → Novaya
bowwow 907190%07 inning Aaron 12.08

-

6. 00

6.

08%90%07inning 6 Thins 8 wind
13 601-19=79

bowwow 735 90%07 inning Aaron H
.
19
-

G
.
40

7.

39%90%07inning 7 Thins 39 wind → manga
www.98ionnmnndnynsrnewounqtnovsommhs now 67.3%+39

5
. 49

1 .
50

oo
.
986007mbar I Totoro 50 win

⑧

49) Hornet woods 60W 4 Hrw so brorinentsrwhvnhn = 180 ÷ 4=45

0iYnohqUnTwru8owGHNmo9wn8 45,45 , 90 ⇒ 60W Safwan

÷÷÷÷:
'

÷.fi:1?o.::::ss...m:onn.u...
Tonks Wn

. A rotor = 91-9=18
z Z

Hirado Lz (XXX ) = 78

XZ =

78×2×2=36
7/2 = 62

x = o # 2)

-



a

50) I

a -
a

'Ii:'s:: name.

To 66M
'

DEHN = 720J = 120

-

-
l

a a

L

RENANWIT VOS DABHG line DAFED

Fortunanon aiumtonnnnuotwneoiownw ooo overwrites ( un h wires

07h AI N'WN
,
Nmos ABCDEF 60wTUn5wmhN,Ninh

ooo A-IF = FIE = EID = 18oz = GO

07h AEE = FED = 1200

Fa
,
GI Oishi's not's AEE iink FED

o: Afa = GEE = FEG = GED = 600

Whine DAFG
,
SFGE

,
AGED 60W Antwin'7

Hot FE = AG = GD = A

Un Wn
. DAFED = I 129-19 ) ch ) = Iya ) ch )

to Wh
.
ABCDEF = 2x 121397 Ch ) = 3. ah *

on A¥ = 1,3¥ ion ' ADB = GBH

actor Aadt = If,
a 2A
- =

qGH -

E = GH
Z

UI Wn . DABHG = Izcatazllh ) = Fah

ooo
= IzaIn- = f- ÷ 3 = Ix z = I =L :c # 27

Wh
. ABCDEF

#



C AT 660 : AI BOWEN-WHOMMON A
oooo

5"

÷ :.! assisi .no. .
µ ooo BC -- BD = 5 Cm

g.
THOT nmN072T0UIUoOs DACBD = ACTADTBCTBD

= 4-141-5+5

= 18 cm # 2)

I

52) amaranths 0.15M = 15cm
,
072 0.2 m = 20cm

,
IT 0.3 M = 30 CM

UFN7momtinbusruom5-fzlus.amMoonrise)
z

X 15×20×30

= 7,800 Cm
'

VEN) Mount outgrow lot = ¥017,800 ) = 780 Cm
'

ooo VENIMINI 668J = 1,8001-780

= 1,980 cm
' # Tainingmou

-

53) A B Wn . 669607 = Wh
. D ABCD - (① t②t③t⑨ )

③
Wh

.
DABCD = (2-121-21141-4)=5×8 = 48

①
Wh

. ① + ② +③ +④ = wn.nfsosn.tw Trott

= 1217142 )

②
= 817

④
ooo Wn

. iron = 48-817 # 3)

D C

#

⑦ ②
541 GI ABI ; AGF = ABI = 68

Oeta AEG = 180-62-68 Informed us)
= 50

* " "⇒ a:*
.
:¥¥÷:/ " mm.

ABE = 180 - 52

GEE = 118 V

-



55) " ② 6n4osmni0wIUunou8uNmwm4
=

"
A PETA SABC 60W sunhats

x = ooo XXX -1120=780 IN,NMUfW SABC)

① "
nmaiiiiiiiiii.mu/:::::.no= (6-271180) X = to

2

= 4×180 X = 30 # 1)
= 720

bbmtaeaywavnhnonhnw
ooo him

'
@EW
,
N = 72dg = 120

#

56) iinrntoutn x narrow ② noentoufot Generous
⇒ of 56+58-52471-1 = GO 0%5479380040" 64 neurons

4

ooo nhrD8o9uw'

= 56 -158+621-54-154

5
""

I I:* . / -

- 3¥
X = 64

= 60.8

stunt nhooforw-tnotwo.se neurons # 3)

#

57) 9wndosGqnuooEsms 2 @n Eun 18h

n4u8u 2 pnw with iambs BEING 0040662606 swore GEUM raters 7 ngn

a) Tomntnouuoufotngnuonooonsrnnoisoehsrrniwow n ) ng
u ) Tomntnbcuouioingnuonnutsoooeinavdisucdosainfo oohs uoitoinfoongnbnffaionnuoufoifvh.IM6Th Vian

MOU m nun ,
neon #2)

-

58) BwKo8uwd7WUw8FO 50 AN Mn 500 NW

Gatun 51×100=101
500

Gwen680 -wn9 naw#ON UTU 35 NW 07h 500 AN

7

otaku 3-5 71.
I

" 700 =

0840%7 25-1251-101-71 -171-271=700

37/-167 = 100

X = 100-67-3=11 #D
#



59 ) bomber usernneionvrorwwuwotow
- Furman's raison = 2.5-1.3 = 1.2 not'wEw = 72,000

- QUnrrhfntnfnnwirnebnfbosfow-2.is - 1.2=1.3 UNEVEN = 13,000

- inbounds = 1. I - 0.7=0 .eu#wEw = 4,000

- snot'og9vHWW4 = 0.5-0.3=0.2 UN±wEw = 2,000

MY bottom 1) 73,000-12,000 = 15,000

12,000 C 75,000 7) UTA

2) 72,000 t 73,000 t 4,000+2,000 = 29,000 2) WTH

3) 5×5000 = 25,000 3) nun # 3)
4) Fishin

'

NEW = 29,000 Ew

07h 73,000+12,000 t 7,000 t 3,000 = 35,000

Rangy 29000-1 Moo = 82.81. 4) won
35000

-

50) - 07h Iii ) mowirvowoiooownnsmo.mn cis Mount Friedemann
- 07h Iii ) Mount maintenance

- an Ciii ) moisuhaownooroersnonw mNr8owoJnnv
- an Civ) mowuhodionhnwnofowos.mu

Mount wrooosiodeowonef (swore NT ,
Uoisnooownnsmisn )

octonions /N4u#
down

'

noon Isan - 3) nun # 3)t.in/:::l::::t:iw:nWnou9nE8on#
(1) WTH

~



Hawk 5

121 )

# 41

#

122)

#3)
#

123)

÷ :*:÷÷:
Gagnon 390

#2)

⑧



124) aww

O 00

# 4)

I

725)
I

C- oriiosuwsvi
,

a

X a X Nd 5 inn
5

mind's o y D- ÷!:÷pgu
3 son # 4)terror x

-

126) info aww t uaywnrwiuwnnntm

H' I ⇒ '
'

=

#aboom 2

-

7271

aiiowntaitoioinononnwonons
# t )

-

128)

µu4ou8uwnrom'warms intonotes
# 3)

⑧



1291

# 2)

③

130)

# 2)

-

1311 gEg- entmoooiwriumwrruu * # *

7. =
- *

l l
#e)

iUNdOwrnN*

⑧

132) 1 2 I 2 ooo ? To Ivonne ungual
8 3

• •

t e

e
3

6 5

TUEru8oN # t)

•



133 )

- # 3)

#
- # 17

③

""

ft LETTIE #a
#

⇒

izzy
/##



138)
O

Ox
-

g g - -

O

Oo - -

# 41

~

139 ) 101 94 88 83 79 7-6

t.FI#h.f.yyi-2=7eAI
140) 8 7 6 8 10 9

+##↳#g8
-10=8 # p

-

141 ) - I 8 -3 4 -9 2 -27 I -87 ' '
'

2=0.5 #z,

#

142) 2 2.5 3.5 5 7 95

¥¥¥x¥y"→="5#
143) 80 2 40 4 10 2 5 4 5÷t= 1.25 # 3)

1441 AM
?t÷='Is # HEt II E. it

ztiftzztteet.it#



145) 1060/1/100/10 111001011080 100/10/70300/1 10/1080/1/100 # t)
inv e paint'own9n-uYuo&ouy

↳1000 I 100 10

-

146) 111 212 313 122 224 326 133 224+12=236 # 3)

X
-112 -111 -112

-

1471
'

AZZ ZAI 22A
' c'YY YEY YYE F'xx XIX # 3)

int'owm%iuwbm5EnuoYUr8ou7
#

148) NAJ BEF RAM RPA YAM NUJ # 4)
d d d d d f
JAN FEB MAR APR MAY → JUN

-

749) 5 D l = (5-4)×100 t 15×4) = 120

7 A 5 = (7-5)×100 t (7×5) = 135

6 A 3 = 16-37×100 t 16×37 = 318

8 A 2 = (8-2)×100 t (8×2)=875 # 4)

→

,
09mWbowtie

150) 2 ; Zz -12=3
4 ; I +3=5
6 ; Iz +5=8
8 ; I -17=11 # 3)
#


